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5. (=] HrAlS A A BT 2,500 2,500 0
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1. 0589 H 4,300 4,300 0
10. [Z]HEE=RA SO 3] (v ) zHe] B15680 1,690 0
1. 0583 H 1,690 1,690 0
1. [2]- A A S S g E=-A4] 5,000 5,000 0
1. 058 H 5,000 5,000 0
12. [=]gad A7 el A L 2,500 0 2,500
13S0 9 500 0 9 500 (B HAATIHE AN 2,500,000 +1 % 500.000
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1. G981 1,726 1,726 0
4. [2]AFRuSHG]AE(EA) 1,000 1,000 0
2. 05 H| 1,000 1,000 0
5.[Z ]2 T WA S I AN A A (F 41,700 1,700 0
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1.A7gae 19,880 19,880 0
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1. 0529 H 18,500 18,500 0
2. BAAL G A5 1,380 1,380 0
4.5 9 12,089 11,564 525
1.5 489 70 70 0
1I[2]1EEHYS 70 70 0
2. H3F TG 70 70 0
2.7 1 3} 8- 12,019 11,494 525
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A3 20239 029 20 164] 33% 42% 17 A EngH F9x5euw



= h =
202281 A% M| = o AT A A
of| Ak F743] (29 - HdD)
A
71 A 71 A H] ol
oﬂoz\ o oﬂl o 5171 AE71 ()
AR | G | A ARG A7 5 A = = S @ =
1. g uk8-1] 5,760 5,760 0
6.8tw Auke-o 156,645, 153,655 2,990
1.8tu7]¢ 9 46,999 48,133 -1,134
1.5A 7] 829 23,233 23,901 -668
1[04 5,360 5,360 0
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